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QUESTION 1

Click the Exhibit button. 
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Two hosts on the same subnet are connected to an SRX340 using interfaces ge-0/0/4 and ge-0/0/5. The two hosts can
communicate with each other, but they cannot communicate with hosts outside of their subnet. 

Referring to the exhibit, which three actions would you take to solve this problem? (Choose three.) 

A. Add the ge-0/0/4 and ge-0/0/5 interfaces to the L2 zone. 

B. Remove the irb.0 interface from the L2 zone. 

C. Set the SRX340 to Ethernet switching mode. 

D. Configure a security policy to permit the traffic. 

E. Reboot the SRX340. 

Correct Answer: CDE 

 

QUESTION 2

Click the Exhibit button. 

The UTM policy shown in the exhibit has been applied to a security policy on a branch SRX Series device. In this
scenario, which statement is true? 

A. HTTP downloads of ZIP files will be blocked. 

B. FTP downloads of ZIP files will be blocked. 

C. E-mail downloads of ZIP files will be blocked. 

D. ZIP files can be renamed with a new extension to pass through the filter. 
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Correct Answer: A 

 

QUESTION 3

Which two parameters are required to match in an IDP rule for the terminal option to take effect? (Choose two.) 

A. attacks custom-attacks 

B. attacks predefined-attacks 

C. application 

D. source-address 

Correct Answer: AB 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, a user with IP address 10.1.1.85 generates a request that triggers the HTTP:EXT:DOT-LNK IDP
signature that is a member of the "HTTP ?All" predefined attack group. 

In this scenario, which statement is true? 

A. The session will be closed and a reset sent to the client and server. 

B. A Differentiated Services code point value of 8 will be applied. 

C. No action will be taken and the attack information will be logged. 

D. The session will be dropped with no reset sent to the client or server. 

Correct Answer: D 

 

QUESTION 5

Your manager has notices a drop in productivity and believes it is due to employees checking their social media feeds
too frequently. You are asked to provide analytical statistics for this traffic within your network on an hourly basis. 

Which AppSecure feature should be used to collect this information? 

A. AppQoS 

B. AppFW 

C. AppTrack 

D. APBR 

Correct Answer: C 
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